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1. Given that the determinant |a,, a,, a,; =4, find the determinant

a3 4y dy

a, —2a;, a,—2a;, a,-2a;

a,, a,, a,, |.(1043)
—4ay, —4a, —4ay;
1 5 7 9]
. : 0 0 2 6 16
2. Find the eigenvalues of A4~ for A= (10 43)
0 0 0 2
0 0 0 4]

[\, T O]

5 2
3. Find a matrix P that diagonalizes 4=|2 2 |, and determine P'AP.
2 5

(15 97)

4. Suppose that matrices 4 and B are inverses of matrix C. Is it true that 4=B?

Justify your answer. (15 43+

2
5. Solve the differential equation Y. _ xdy = ydx

= (10 43
2x  xdx+ ydy (1057)

357 +2.5577
13s %+ 45 +

6. Find the inverse Laplace transform of the function F(s)=

1-(10§3\)

7. Solve the differential equation "+ y=13tanx. (10 43)
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8. Please find the Laplace transform L[ f(¢)] where f(¢)=2 on the interval [a,b]

(where O0<a<b)and f(t)=0 otherwise. (10 43)

9. Find the general solution of the system (10 43)

dx
— =-8x—-11ly-2z
dt Y

X Q:6x+9y+22
dt

dz
—=-6x—-6y+z
dr 4

\



